g X EREARBRONT T HIHHEE I B LB A0 (HARANDHR) SER2TAET A 1 B BAE
BT 4 M# % B i 3t WTOT 4 A B I 3t BT 4 M# % B i 3t
WAL T H 244 213 269 482 | LT 255 216 227 443 |F U1 T H 1,390 1,105 1,167 2,272
A2 7 H 207 182 183 365 | BT 346 300 341 641 [FIL2TH 3,363 2,276 3,356 5,632
3T H 258 189 212 401 (5T 44 41 48 89 [FIL3TH 472 424 415 839
A4 7TH 1,888 1,519 1,461 2,980 [HxAFHT 66 46 44 90 |& /ANl 2,750 2,306 2,344 4,650
AT 237 189 208 397 | B IEFRT 967 864 970 1,834 |H AHT1ITH 2,160 1,745 1,082 2,827
=4 902 760 852 1,612 [VG FdFHT 827 726 749 1,475 |G ABT2T H 2,143 1,678 1,378 3,056
Y HT 1,345 977 1,082 2,059 |FRyETTHT 223 194 216 410 |H ABT3TH 2,412 2,377 2,789 5,166
HHE1ITH 1,263 1,157 1,198 2,355 |FEAEHRT 646 598 678 1,276 |E AHT4T H 1,487 1,059 1,418 2,477
%%ZTE 389 321 359 680 [43HT 337 269 336 605 | RALRLITH 1,832 1,403 1,099 2,502

#3TH 582 462 507 969 (AT 400 386 413 799 | KAR2T H 3,679 2,917 2,656 5,573
’E,%TFHT 791 680 684 1,364 |FHT 345 355 385 740 | KASRST H 1,554 1,523 1,768 3,291
L) 884 611 763 1,374 |dbHT 486 419 477 896 [F&HEMT1 T H 103 73 84 157
{EIRIT 570 392 534 926 |fFHT 492 431 461 892 |VEEFfEM1TH 2,915 2,292 2,431 4,723
FE T 1,132 998 1,121 2,119 |Fg ILI{RHET 367 326 313 639 Vi RFfEmE2T H 2,825 2,289 2,202 4,491
FEAHT 1,392 1,004 1,014 2,018 [ALiLifRmT 293 198 243 441 [FERAGHE3T B 3,335 3,034 2,915 5,949
JHAT 952 639 692 1,331 |HERAT 698 571 745 1,316 |EHESR1ITH 2,192 1,802 1,687 3,489
FfENT 771 582 644 1,226 | F& LLHT 137 92 112 204 |BHES2TH 1,057 853 740 1,593
KA HT 1,853 1,436 1,657 3,093 | knT 2,365 2,086 2,336 4,422 |EHESSTH 3,288 2,579 2,286 4,865
85 T 149 89 145 234 |FE =T 491 419 453 872 |mMESH4ATH 3,279 2,805 2,611 5,416
PN T 466 413 474 887 |’& FHT 401 276 341 617 | F&EA1TH 1,318 960 893 1,853
JFT 229 166 173 339 |HHT 221 224 233 457 | F%E2TH 1,641 1,487 1,552 3,039
HFEl1T H 2,611 1,852 1,743 3,595 |EEEnT 423 276 325 601 [F%A3TH 2,334 1,887 2,301 4,188
HE2T H 807 636 472 1,108 |HE=5HT 516 370 412 782 | F¥&A4TH 2,210 1,932 2,126 4,058
HE3T H 104 98 53 151 |54\ igHT 553 382 523 905 | #EA1ITH 1,957 1,578 1,560 3,138
4T H 236 207 102 309 |Hr/ T 1,730 1,435 1,507 2,942 |H¥%E2TH 2,496 2,186 2,289 4,475
HFEs5T H 1,698 1,275 948 2,223 |FH3E90] 55 0 0 0 0 EP(%/\STE 2,155 1,935 2,019 3,954
HrEe T H 2,450 1,899 1,561 3,460 |3 50T 1,788 1,378 1,445 2,823 | A4 TH 1,523 1,465 1,375 2,840
HiE7T A 3,388 2,804 2,589 5,393 | i tnmT 812 547 646 1,193 | E%A1TH 2,881 2,433 2,391 4,824
HAEZET1I T H 175 143 67 210 |z b7 1,054 912 1,021 1,933 | L& A&2TH 2,925 2,320 2,197 4,517
WELRT2T B 1,595 1,205 636 1,841 |-k FHT 762 586 637 1,223 | E%A3TH 2,854 2,191 2,040 4,231
HAmEITITH 15 8 16 24 | Rpmy 670 495 554 1,049 |WE%A1TH 2,376 2,052 2,054 4,106
A mET2T H 324 229 341 570 |#EHT 365 285 273 558 |G A2 T H 2,183 1,956 1,887 3,843
i mHET3T H 169 137 146 283 | HAEHT 162 125 124 249 |WHAE3TH 1,594 1,331 1,516 2,847
EAZNGLI} 1,628 1,438 851 2,289 |Hfig mAT 588 425 485 910 E(%/%TE 1,090 1,009 1,060 2,069
e HEITIT A 112 111 134 245 |5-Fd H FE T 442 393 409 802 |HH1TH 1,110 903 684 1,587
rh"ﬁ‘@iﬁﬂ]TZTB 225 167 225 392 |45 T 280 230 216 446 |FH2TH 1,442 1,326 1,438 2,764

A LJFET3T H 412 371 449 820 |JFHT1 T H 738 624 647 1,271 |At#F =1 T H 3,407 2,594 2,380 4,974
*"EWWT 230 213 223 436 [JHHT2T H 629 577 586 1,163 [dbHE2T B 2,732 2,470 2,152 4,622
HANERT1T H 115 182 192 374 |RET3 T H 964 756 829 1,685 |[dt#HE3 T H 3,720 2,956 2,740 5,696
A INERT2T B 774 726 813 1,539 [EAJ0T 989 893 871 1,764 |dt#HmE4 T H 3,347 2,661 2,371 5,032
EALI=L0) 319 276 322 598 &L T 291 229 286 515 |TEHE1 T H 39 29 33 62
AR T 64 70 84 154 |77 KHT 1,671 1,393 1,428 2,821 |WE# 2T H 3 3 3 6
iR 0T 104 50 100 150 | HHT 319 317 364 681 |VE#H1E3 T H 1,160 786 813 1,599
EAY A 30 29 23 52 |1k T 1,961 1,452 1,558 3,010 |FEHE4T H 4,463 3,419 3,069 6,488
EAIN} 222 207 228 435 [SftHT 348 276 277 553 |TEHES5 T H 2,142 1,530 1,353 2,883
DA 58 50 61 111 [AKErT 528 378 386 764 |PEETE6 T H 1,925 1,512 1,310 2,822
1T H 12 14 16 30 |F-Aw M e 3,046 2,479 2,421 4,900 |PEEE7T H 1,583 1,231 898 2,129
Y2 T H 138 93 128 221 |[fEET 1,590 1,183 1,289 2,472 |WEH ST H 1,853 1,353 1,326 2,679
Y3 T H 289 214 222 436 |THA BT 719 589 584 1,173
AT AT H 95 77 91 168 (TD]EIT 1,184 1,026 1,086 2,112
YT 5T H 378 311 394 705 A HAHT 2,967 2,346 2,548 4,894
Y6 T H 568 399 475 874 |4 THT 2,219 1,858 1,886 3,744 = At 179,263 145,757 145,939 291,696
#HEHHUIT B ARAND O HEE | LT B AR N ESNE A O EEE S5 oA F




